Maith

Model (1)

1- Complete:

a) The rectangle is a parallelogram with .......c.ccoce.....
hifah=2:3;b¢=3:51then a:t =it s

c) The ratio between the circumference of the circle and its diameter = ...
+12
d) If === 4 then X= w.oouueeae..

e) If the length in drawing is 2.5 cm and the real length is 1.6 m then the
drawing scale is ......o.. T e,

f) If the volume of a cuboid = 1000 cm” and its base area = 100 cm” then
its height =............«0. ...

2- Choose the correct answer:

a) If one of thie angles of the parallelogram is right and two of its
adjacent sides are equal in length ,then it is called ..............

( Rhombus — square — rectangle — triangle )
b) If the numbers 4, X, 12, 18 are proportional, then the value of X=
(2-3-6-45)
c) A cube with volume 125 cm3 ,then its base area is ..........

(25 cm? -25¢cm -5 cm?*= 5-::m )
d) A plough foragricultural land plough 14 feddans within 3.5 hours ,then
the rate of this'plough =u............. feddans'/ hour
( % - 4-8-49)

e) Rectangle it’s length 6 cm and area 24 cm? then the ratio between
the perimeter and its length is ........ : ......

(4:1-10:3-12:5-3:2)
3- a) If the ratio among the prices of three electrical sets ( TV — oven —

fridge) is 4:5:8 and the price of the TV set is L.E 1200 calculate the price
of the oven and the fridge
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b) A cube —shaped vessel ,of inner edge length 20 cm was filled of
honey, Find :
a- Its capacity
b- If the price of one liter is L.E 8 find the price of honey
4- a) The height of a minaret is 22m and the length of its shadow in a
moment equals 6 m, what's the height of a house in front of this minaret if
the length of its shadow equal 3 m in the same moment
b) A car dealer bough a car for45000 pounds and spent 5000 pounds to
repair it , then he sold it for profit 10% ,Find-th'e selling price

5- a) A glass vessel'is cuboid shape its inner edge length is 30 cm this vessel
contain an amount of water ,if we throw a metallic piece'in it then the
water level raised 5 cm because of that find the volume of metallic piece

b) In the opposite figure :
ABCD is a parallelogram AB=7 cm , BM 3.8 cm
BC= 7cm and m(£BCD)=70°

D A

6 cm
Without using geometrical instruments find

a- m(£ADC)

b- The perimeterof the triangle BCD W
6-a)A picture of habitation edificesiis-taken with.a draWing scale 1:100000 ,
If the real distance between two cities is 36 km find the distance

between them on the map
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b) The following table shows the numbers of hours which are spent by60
pupils to study their lessons daily :-

Numberofhours § 1~ | 2 ] 3 ] 4 ] 56 | Total
13 ] 18 § 12§ 8 | 60 |

Number of pupils “

a- Represent this data by the frequency curve

b- What is the percentage of the greatest number of pupils to study their
lessons daily
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Model (2)

Q1 : Choose the correct answer :

a) If 100 gm of food give 300 calories , then the number of calories which
are found in 30 gm of the same food equals

a) 90 calories b) 100 calories
c) 900 calories d) 1000 calories

b) If the areas of a face of a cube = 4cm?2 then.f'-ts"i.fm'.ume incm3is ............
a)6 b) 8 c) 24 d).64
c) A liquid is putina glass basin in the form of a cube to be filled
completely , if the capacity of the basin is one litre then the inner edge
length of the basin incm = ..................
a) 0.1 b) 1 c) 10 d) 100
d) The side length of a square = 3cm then the ratio between it’s side length

and it’s perimeter equals ..................

a) 4 b) 3 % d)z
e) The ratio between 12 kirat to 1 %fedd'an BHUTS v
a)12:15 b)4:1 c)l:3 d)3:1
f) Therangeofvalues7,3,6,9,5i5 ccccvcevuerunin.
a)3 b) 4 c)6 d) 12
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Q2 :

a) A quantity of Honey of 2 liters is needed to be distributed into small
bottle the capacity of each of them 40 cm’ find the number of needed
bottles ?

b) An alloy is made of gold and copper, it’s weight is 70 gm , the weight of

copper in it is 7gm . find the percentage of the pure gold in it.

Q3 : A man sold his car after one year of using it with price L.E 52000 if
its buying price was LE 65000 find the percentage of his loss .

Q4 : A box inthe shape of a cube in which the length of the inner edge
is 36 cm . it's wanted to fill it with washing soap bars in'the shape of a
cube of edge length 9cm . How many bars can be put in this box .

Q5 : Thefollowing table shows the daily wages of 50 workers in a
factory

Wages 10- 20- 30- |40- | 50- |60- | 70-80 | Total

Number of workers | 3 6 10 |15 |8 b, 3 50

First : draw the frequency curve

Second : Find the percentage. of the number of workers whose wages

begins from L.E 30 to less than L.LE50
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Model (3)

Q1 : Choose the correct answer :

(1) If% = 5 then which of the following statements is true ?

c

a)a xc=hb xd b) = = -
dja xd=b Xc

(2) If the sum of edgéS length of a cube is 144 cm then.it’s volume equals

a) 1728 cm b) 1728 cm® c) 144 cm’® d) 144 cm

(3) At a moment, the length of the shade of a tree of height 3m was180
cm, then same what is the length of the shade of another tree of
height 2 m at the moment

a) 60 cm . -b)9%0 cm c) 120 cm " d) 150cm

(4) A painter has 25 liters of paints. He uses 2.5 liter of paint per hour. If

he finished his work after 5.5 hours: Then how many liters of paint are

remained? ............c.c......
a) 10.25 litres b) 11.25 litres
¢) 12.75 litres d) 13.75 litres

=y
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(5) If the price of goods in clothes shop is 240 pounds. And its price during
sale is 180 pounds then the discount percentage is......................

a) 15% c) 20 % c) 25% d) 30%

Q2 :

c) If the drawing scale for a map is 1 : 1000 and the length of a road
equals 5km. what is the length.of this road in the map?

d) Three persons f'puo!ved in a business. The. ﬁ'rst.pafd 60000 pounds, the
second paid 80000 pounds & the third paid QOObO pounds at the end
of the year the net profit was 20700 pounds calculate the share of

each of them. D | A

Q3 -

a) In the opposite figure ABCD is %"
a parallelogram , find m (<ACD ) : P

b) If the percén_tage of success for a school equals 85% llcrnd the number
of the srudenlts' in this school equal 800 s_tudent's.. If the ratio between
the number of boys andthe number of -gr'ﬂsl equals 2 : 3 find the

number of succeeded girls in this school ?
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Q4 -

A vessel in the shope of a cube whose edge length is 10.5 cm first :
Calculate the volume of this vessel in cm’ second : How many mm’ of

water is the capacity of this cube ?

Q5 :

The following table respresents the temperature degrees that expected for

30 cities.

a) Draw the frequency curve then answer the following:-

Temperature degree 24- 28- 32- | 36- | 40- 44- | Total

No. of cities 3 4 7 ol 5 | 2 | 30

b) What is the number of cities whose temperature’s are 40 degree and

more ?
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Math

Model (4)
1-Complete:
a) 5Kg:3000gm = ...... ! ......
b)1.45L+05dm3+50cm3=........ L

c) [FA:B=2:3 .B:C=6:7then AlC =.cicni fawna
d) A cuboid with a square base of side length 6 cm and height

10 cm then it’s volumeT s ...covvvvevnn...

B)— = e % :

a)=: 3 % =
a-1:2 b-2:5 c-1:10 d-1:5
b) The diagonals are perpendicular in ......c..cc.oc. , woeiieene.
a- square , rectangle b- rhombus , rectangle
c- square , rhombus d- parallelogram, rectanglle

c) If% = % so which of the following is'true
a-axc=bxd  b-axd=bxe “e-axb=cxd  d-dxc=bxa
d) A plough for agricultural land ploughs 15 feddens in 10 hours

then the rate of this plough = ............ Feddans/h

2 3 5 5
a--— b- - c- = d- -
3 2 2 3
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e) A cube the sum of all edges 144 cm then its volume equal...
a- 1728 cm b-1728 cm? c-144 cm? d- 144 cm?

3- a) If the distance between two cities is 180 km with a drawing scale
1 : 9000000 ,find the distance between them on the map
b) A car consumes 20 liters of benzene to cover 180 km , how
many liters of benzene does the car consume to cover 540 km

4- a) in the opposite figure ABCD is a parallelogram in which

7 cm

m(2B)=110° D __
m(£DAC)=30° 3
AB=4cm ,AD=7cm Hiem
Find, a) m(2D), b)m(£BAC) 1"

& B

c) m(£ACD)
d) The'perimeter of parallelogram

b) A sum of money is distributed between two persons in the
ratio 3 : 5 ,if the share of the second exceeds the sh’at;e of first
by L.E 30 ,Find the share_ of each one

5- a) A company for electrical .appliance-.di.splays the T.V set for
1062 pounds if the company sold with profit percentage is

14% , find the cost price for the T.V set
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b) The following table shows the ages of visitors to an

exhibition within an hour of the day

Visitorage _§ 10- § 20 | 30- --

Numberofvisitors | 6 | o | 12 | 10 J 8 ] 45

a) Draw the frequency curve for thisdistribution

b) What is the number of visitors whaose ages less than 40 years?
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Model (5)

1- Complete:

a) The ratio between the perimeter of the rhombus and its side length =

b) 18 Kirats : 2 feddans = ........ i .......
¢) 1500 EH1% ' s LIEETS
d) The range of the values' 7,15, 24, 11 ;3.and 18 is ..................
e) The diagonals are equal in...................and ...
2- Choose the co..l-‘rect answer:
a) If the ratio among the measurement of the angles is 1 : 2 : 3 then the

measure for the smallest angle equal .......

(10°-30°-45°-60°)

b) If a:b = 2:5 then ﬁ = o (2:5 S 3:7 — 7:2 )
c) In the opposite figure, The number of / / /
parallelograms which can be obtained is ......... / / /
(4-5-7-9)

d) The following data are dés'i:ri'ptive except .:
(Favorite color — birthday — age — blood type)
e) If the length in drawing is 2 cm ,and the real length is 6 cm .then the
drawing lengthis .....: ..... (1:3-1:30-1:300- 1:300000)
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3- a) A metallic cube of edge length 12 cm ,its wanted to melted and
convert it into ingots in the shape of cuboids each of them has the

dimensions 3 cm , 4 cm ,6 cm calculate the number of ingots that are
obtained

b) Three merchants the profit of first 42% the profit of the second is 28%
the profit of the third 36000 pounds what is the total profit in pounds?
4- a) The ratio between the length and the width of rectangle is 7:4 ,If the
perimeter of the rectangle is 44 cm .Find out the length and the width

of the rectangle and then calculate the area
b) A tractor ploughs 6 feddans within 3 hours find'the rate of work of

this tractor , if another tractor ploughs 6 kirats in 10:minutes ,which of

them is better
_ . 5
5-a) Three persons formed a company the share of first is 3 the share of

The second ,and the share of second %the share of third ,If the share of

first exceeds the share of the third by 8250 pounds find the share of each

b) To help the poor people ,a group of students donated a'mounts of

money in pounds shown in the following table :

W AR B . .

Number of students -

a) Draw the frequency curve for the distribution

b) what is the number of students that donated 7 pounds or more?
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Model (6)

Q1 : Choose the correct answer :

(1) If the Ratio among the measures of angles of a triangle is 2 : 3 : 4
then the measure of its angles in the same order are ..................

a)20, 30,40 b) 20, 60, 80

c) 40, 80, 60 d) 40,60, 80

(2) If Hazem drinks 21 glasses of milk we;;k!y then the rate of what

the drinks daily is ............cc..oouu
a) 3 glasses b) 7 glasses
c) 14 glasses d) 20 glasses

(3) A metalic piece in the shape of a cube of edge !engfh 40cm it’s

melted & converted to a cuboid whose base area = 2000 cm? then

it’s height = ......
a) 16 cm b) 32 cm
c) 64 cm | _ d) 80cm

(4) On a map is drawn such that each 1 centimetre represents 5 km.
then if the distance between twovillages is Ekm then the distance

between them on this map in centimeter equals ......................

a) 0.1 b) 0.4
c) 25 d) 10
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(5) A merchant sold his goods with profit 15% then the percentage of the

selling price to the buying price equals ...................

a) 15 % b) 85 %

c) 115 % d) 150 %

Q2 :

A manufacture of-clothes produces 8000 pieces daily , if the
ratio between whdt this manufacture produce from the childrens
clothes to the adults clothes 2 : 3 Find the number of pieces for
children’s clothes produced in 3 days.

Q3 :

a) If ? = g, find the value of x?

b) If the feast festival, one of the shops mode a discount 15% for the
price 'of a refrigerator which equal 1750 pounds. thd the price of
the refr.!'gerator after discount ?

Q4
If a quantity of sugar with volume 2700 cm” need to can in a box,

show which of the deow:’ng boxes is suitable ? and why?

a) A cuboid with dimensions 45cm ,40cm & 15 cm.

b) A cube the length of its inner dimension equals 30 cm .
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Q5' !’
The following table shows the dates & the number of trips ( in one of the

bus stations for the governorates )

Dates 6am |8am |10am |12am |2pm |Sum

Number of trips |30 41 40 16 13 140

Draw the frequency.curve for this distribution, then answer the following

What is the number of trips before 10 am ?
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Model answer 1

Q1 complete:

a) right angle
by Ailb i€

2. 33
3*3:5

6:9 2153y ——Fgi1g=

2: 3 5 T a:c =2 o

¢ wil

d X+12=4x6=24
X=24-12/=12

e) D.L : R.L

2.5cm:1.6m (1.6 m x 100 = 160 cm)

25 : 160 (x10)

25 : 1600 (+25) J

1 :64 \ y
vo[ume 1000 |

f) Height = - =10 cm
BA_ . /100

Q2.choose:

a) Square
4 12

b) —=—

a I8

4x18
X= =6
12

c) E=3YV =3V125=5cm

BA=EXE=5x5=25cm?

d) The rate = 14 = 3.5 = 4 feddan /hr
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e) W=A+L=24+6=4cm

=(L+W)x2=(4+6
P L
20 :6 (=2)
10: 3
Q3.a) T.v : oven : fridge
& .9
1200 : _

)x2=20cm

the price of gven =

the price ._éf fridge =
Q3.b)

a) Capacity =20 x 20 x 20 = 8000 cm?®

5x 1200

= 1500 pounds

8x1200

= 2400 pounds

+ 1000 = 8 Litre

b) The price"_of honey = 8 x 8 = 64 pounds

Q4.a) _-
X = 3; 2 k. m |
6.,
Q4.b) c.p = 45 OUO +5 000 = 50 Height / 22 m X
000 pounds o : “shadow |6m 3m
c.p : profit : s.p
100 20 w10
50 000 : i R
S 21925007 55000 pounds
100
Mid=year Sivtin iy
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Q5.a) volume of the metallic piece = 30 x 30 x 5 =4500 cm?
Q5.b)

a) M(<ADC) =180—-70= 110°
b) Perimeter=7+6 +3.8+3.8=20.6cm

Q6.a)
LEL 2 KL
1 :100000
=36
36x1
D.L= = 0.00036.km x 100 000 = 36 cm
100 000 :
Frequency
b)

Sets

The percentage = % X 100 = 30%
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Math

Model Answer (2 )
(1) a)
Gm 100 30
calories | 300 X?
N 30 x 300

¥ = —o0 =90 ca_lcl:lorles _

b) E=vFA=\4=2cm

VeE x EGE? x 2 x 2.=8cm?
¢) 11iter <1000 = 1000 cm?3

V. of liquid = 1000cm?3

E =3V = 31000 = 10cm

1
d) - |
e) 12 kirats = 1% feddons
12 kirats : 36 kirats ey

1 y 3

f) Range = max value - minvalue=9-3=6

L=y 20
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Q2:a) 2L = 2000 cm3

2000
Number of bottles = e

= 50 bottles
b) The weight of the pure gold =70-7 =63 gm

The percentage of the pure gold =% X 100=90 /.

Q3: C.Re oy SO S o
100% " 2 |
65000 13000 52000
I 0, A
100 x13000
Percentgge of loss = = 20%

Q4: volumeofcube = 36 x 36 x 36 = 46656 cm-é

Volume of soapbar =9 x 9 x 9 = 729.¢m’

46656
729

Namber Dpf seapbars, = . 64 soap bars
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Q5:
Sets Center of the set Frequency Point
10 - 10;29:15 3 (15, 3)
20 - 20;30:25 6 (25,6)
30- 30;40 = gL 10 (35,10)
10 |sors0_gf | 15 7 |45, 15)
50- Sﬂ;éﬂ L 8 (.55, 8)
60- gO+70_ c (65,5)
70-80 7042:80 — 3 ( 75.', 3)
2
Draw by yourself

Second: The 110 of workers = 10 + 15 = 25 workers’

The percentégg of woerkers = % X 100 = Sl
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Model Answer (3)

1) axd=bxXc

2) E=-2==12cm
s

Viee12a 125 12= 1728 omn®

180x2

3) The shade = = 120 cm

Height' 3 m 2m

Shade 180{:m'. X

22000 IV [T

4) after 5.5 hours he uses =

The paint reamainded = 25 - 13.75 = 11.25 liters

Liter 25 A ?
Hours 1 55
5) Befor diséo._unt ] discount : after d_i-sfécmnt
100% -:\ Wl |
240LE : 60 : 180LE
A A

O

: 60x100
Percentage of discount =

= 25%
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Q2:a) D.L = 11:050 - % x 100000 km = 500cm. DL :
1
?
by 1= : 2nd : 3
60000 : 80000 : 90000 (+10000)
6 : 8 : 9
Ist 2nd ;o 3“1 : sum
6 : 8 M4y 23
y 20700
e The shirdaffin = 2700 = 5400L.E
o The share of 18t = =222 = 7200 L. E
e The share of 1t= =——— = 8100 L.E

Q3: _
a)  m(&D)=100°
M(<ACD)—18[} (100+35)—45

b) Boys ub=-hgy1':_”ﬂ5un1j
2 ! & 1 5
? ; 800
3x800

The number of girls = = 480 girls

The number of succeeded girls = 480 X % = 408 girls
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Q4: First: Vofthevessel=EXEXE =105x105x10.5
= 1157.625 cm?3
Second: 1157.625 x 1000cm3® = 1157625 mm?3

Q5: b) The number of cities = 5 + 2 = 7 cities

Q5: a)
Sets Center of the set Frequency Point
24 - 24;‘%.8 £ 26 l 3 (26,3)
28 — 28:32:30 4 ™ (30,4)
3. 32;35=34 7 (34,7 )
e 36:40 _ ag 9 (.'38 ,9)
. 4{);44 — 42 5 ( 42 B
44- | f—=—== 16 2 (/46,2)
Draw by. yourself
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Model answer 4

1l.comple:
a) 5000 : 3000 =+ 1000 (5 kg x 1000 =5000 gm )
5:3
b) 1.45 L+ 0.5 dm>+ 0.05 L= 2L (50 cm3 + 1000 =0.05 L)
c)
A:B:C
2 BB
6 :6:/7

12 : 182 3

4 :6:/

a:c=4:7

d) volume of cuboid =LxW xh=6x6x10=360¢cm® L=W=6

&)l % X 106-}% = 45%

2.choose:

=

0
" 3

W

a)

()]

: 30
118

b) Square and rhombus
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P — A st B i e
[T T—————"

c)axd=bxc

d) The rate = 15 + 10 =§feddan /hr

_sum of edges = 144 = FIER
12 2
V=EXExE=12x12x12=1728 cm?
Q3.a. D.L : R.L
1 :9000000
X :180
180 x 1 1 4

9000000 504000

L Jem x 100 000= 2 cm

50000
b) _
540 x 20

X: =60L
| 180

a) m(<D) = 1106~__(0p'p05ite angles )
b) m(<BAC) = 180 —( 110 +30 ) =..40'°(co'nse,cutiv.e angles)
¢) M(<ACD ) = 180 — (110 +30 ) = 40°
d) The perimeter=(L+W )x2=(7+4)x2=22cm
b) P, :P,:difference
. A
: 30

5
30 a3 — 45 LE ’ Pz =3{}x

= JaLE

P]_:

N _},‘@ e Sinth ]lmﬁillllilﬁé‘y




Q5.a)

C.P : Profit :S.P
100% : 14% :114%

: 1026

_ 1026 x100
114

C.P = 900 pounds

Frequency
A

b)

The number of-vis_itors = 6+9+12=27 visitor
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Model answer 5

Q1. Complete:

a) 4:1
b) 18 kirat : 48 kirat +3 ( 2feddan x 24 = 48 kirats )

6 - 16 +2
3 : B
c) 1500 cm3+1000=1.5L

d) The greatest number-— 24 the smallest number =
Range = greategt— smallest=24 —3=21

e) Squar — rectari'gle

Q2.choose!’:

a) Ai A, : Az :Sum
1 : 2 @ERSl :6
- : - [ :180

180 &1 180 x 2

Ay = =300 , 4,= =60°

180x3

Az= —900 , then the smallest angle isSO?- '

2
b)A:b—Z.S th_e_nIE:Z:_?

c) 9 i

d) Age

e) D.L : R.L

2cm : 6m (6m x 100 = 600 cm )
2 : 600 +2

1 : 300

Mid=year: 29 Sty pazinzy
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Q3.a volume of cube =EXEXxE=12x 12 x12 =1728cm?3
Volume of ingots=LxW xH=3x4x6=72cm?

The number of ingots = geeiume . FI . om ingots
small volume 72
Q3.b) 1st . pnd .3rd : sum
42 % : 28 % : - : 100%

:36000:

The profit of the™37% = 100%-(42.% + 28 %).= 30 %

The total profit= w= 120 000 pounds
Q4.a) L : W £ Preimeter
7:4I..-':22 (4+7)x2=22cm
_ [ T/44
=227 _qam , w=22 _gm  Area=LxW=14x8 =112 m?

Q4.b) 6 feddah_x 24 = 144 kirats , 3 hours x 60 = 180 min.
First tractor =144 =180 = 0.8 kirats / min.
Second trac-'{qr =6 +.10 =0.6 kirats / min.
The first tractor. is'the better

Q5.a) 1%, v 3"d = Esopd -i'S_f,d " . difference
5 :|3™:_3 Twwya 70 A !
4 444 :3 B Y 8250
20 : 12 : 9
< b % 15000 pounds and 1228230 _ g409 pounds
37 = 9x?i50 = 6750 pounds
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Q5.b)

Number of students = 15 + 10 +8 = 33 student
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Model Answer (6 )
(D 1st angle : 2nd angle : 3rd angle : sum
2 i 3 & 4 9
180
1st angle = =2 = 40°
2nd angle = 22220 = 60° "
3rd angle = %?80 =80’
The ang]és are: 40" , 60° , 80°
2- The rate of what he drinks daily = = Cups =) glasses / day

3- volume of cube = 40 x 40 x 40 = 64000/cm?

H Of'-qub B - BVA _ 64000 _ oo ;

4-5 km x 1000000=.500000 cm

DL =20 - T . pp
500000 1000000
SETE0000 =i eii= 0.1 G 1 - 500000
1000000 10
A km
2
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5- CP cprofit :S.P

100% - 15% - 115%

Q2 : children : adults sum
2 3 i 5
CAN z 8000

2-%8000

Pieces of children in oné'day = .= 3200 pices

The factory prt)duces in 3 day = 3200.x 3 ="9_600 pieces.

Q3:a)x 43 =22=10

x=10+3=13
b) befor discount : discound : after discount
100%)/ \: 15% :  85%

1750 LB = 3

1750 XBS

The price affé-r.discount — = 1487 5 L.E
04: vofcuboid =45 x 40 x 15 = 27000cm?
v.of cube =30 x 30 x 30 = 27000 cm?

Both of the boxes are suitable.
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Q5: B) The number of trips before 10 am = 30 4+ 41 = 71 trips.

Maith

Sets Center of the Frequency Point
set
6 am $=7 30 (7,30)
Bam [3H0 _ oo Ty, |(9,41)
10am |——=11 40 (611, 40)
/12414
12 am 3 13 16 (13)16)
14+16
=15
2 pm 2 13 (15,13)
Draw by yourself
Good Luck
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